Calculus II, Section 11.4, #34
The Comparison Tests

Use the sum of the first 10 terms to approximate the sum of the series. Estimate the error.t
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The tenth partial sum of the series is
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To estimate the error, note that the corresponding function f(z) = - is continuous, positive, and decreas-
ing on the interval [1,00). From the Remainder Estimate for the Integral Test, we get
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~ 0.000359364

Thus, the error in the estimation of the sum is less than 0.0003593.

To get the approximation, we used the TI-83 with fnInt (e~ (1/x)/(x"4),x,10,100000). WolframAlpha
gave
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1Stewart, Calculus, Early Transcendentals, p. 731, #34.



